Practice Problems

Convert each of the following common degree angles to angles in radians. Express your answers in exact

1.

terms of pi.

(a) 30° (b) 45 (c) 60° (d) 180
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(e) 300 (f) 135 (2) 270 (h) 330°
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If an angle is drawn in standard position with each of the following radians angles, determine the quadrant

3. g
its terminal ray lies in. Hint — convert each angle into degrees
(a) 4.75 (b) -5.28 (c) 1.65
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(d) 7.38
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4. Draw a rotation diagram for each of the following radian angles, which are expressed in terms of pi. Then
determine the reference angle for each, also in terms of pi. Think back to how you did this with degrees.
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